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QUESTION 1

What happens in the Storage Assessment phase of the SAN architecture approach? (Choose three.)
A. selection and establishment of guidelines models, principles, and standards for the SAN

B. description of the feasibility of an effective solution based on obstacles and constraints

C. an inventory of systems, software, employee skills, and internal processes/documentation

D. analysis and documentation of business requirements, organization, physical environment, networks, and
infrastructure management

E. Business data is classified, utilization of data is explored, ownership and usage statistics of application volumes on
systems are reported.

Correct Answer: CDE

QUESTION 2

Backbone SANs are best suited for what type of traffic?
A. many-to-many

B. one-to-one

C. many-to-one

D. localized

Correct Answer: A

QUESTION 3

How long does it typically take to create a SAN architecture for an enterprise-class customer?
A. days to weeks

B. hours

C. weeks to months

D. months to years

Correct Answer: C

QUESTION 4

When 1/O traffic patterns are unknown, what is the recommended SAN topology?
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A. ring

B. backbone
C. meshed
D. cascaded

Correct Answer: B

QUESTION 5

A SAN administrator needs to change the Domain ID and Core PID parameters on a switch that is part of a production
fabric. Which two statements about this update are true? (Choose two.)

A. This process can be performed with the switch online without disruption.

B. The Core PID parameter does not need to be manually changed; it will automatically be selected.
C. The switch must be rebooted to set the Domain ID and Core PID.

D. This process cannot be performed with the switch online and is disruptive.

E. The Core PID parameter must be manually changed as it is set to a default value in the factory.

Correct Answer: DE
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